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Let a die rolled till 2 is obtained. The probability that 2 obtain on eve?
numbered toss is equal to P(2)=-L L3)
% 5 P(2 e~ Sver wumker-eo&?) P(=)=5
11 d o G
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If all the letters of the word ‘GTWENTY’ are arranged to form a new word and
all these words are arranged in English dictionary, then fmd Rank of the word

‘GTWENTY’

@ 33 E |[= & =3cgo
2..'
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-

@ 550 OGN = SV _ QQ
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llC1 llC2 11C9 -
2 3 o — . then find the value of m +n -8
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d, oy, ars ... G.P. has 64 terms and (S,) = 7(S,)4q- Find value of 7. _-
T T!'z 3—’3 €32 2,4,%,/¢
Q,Q"la' IQ,,*- ._’QY v
é ° QY =y
Q.=a(r =)
B) 8 |
godo\ = QA+o* -tQY“-r _ — UP‘!‘Q 2 ey
@ 4 Seag = 2 ((?)2))
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3

_ Jx(? cost1/3dt _Q_) QW» . 9
Evaluate.il_l’% (x_g)z . (o x=Rlo AN, ? (‘— 3)
31[2 /Q’m Sremx = |
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Inan AP a, =2, then find common difference for which a; - a, - ag IS

_ 0= 22 @+ Set=2 =) a=2-5d (MB)
ya/s P= a, @yQs= a(a+3!) (a+yat) =@-s) (222 (o?—d’)
(B) 12/5 =4- 14+ 1002) (2-)
= &—28d+20d = Yd+Iud & 1pal? é
(c) 4/2 P = —lod®>+3v4q2 32Q+§& .
@) 6/2 3\‘;\)— —30q QRdd-2p = —& (\sak ?Nd-\-\g
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If A & (|24])% = 2% ,thenfind a - (o, € 1)

O =
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2+2x, -3<x<0 -x, -1<x<0
fx) = 1—%, 0<x£1'g(x)={x, 0<x<1’

find the range of fog(x) is 2+2500) -3 <90 <0

| (%)= -f (a(x)): 0O x
@/[E'I)U{Z} o9 {v—a(x) ‘g <
1 : 2-
¥
il fq)= {210 x=0
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2+2x, —3<x<0 -x, —-1<x<0 (fgwnC?O
fx) = 1—35, O<x£1'g(x)={x, 0<xx<1’

find the range of fog(x) is 2+290%) "3 < 90x) <O

ﬁ [% 1) U {2} ’ﬁo@ )=+ Q)= {v-— 9Cx) AR
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Let a circle C of radius 5 lie below the x-axis. The line L, : 4x + 3y + 2 =0
passes through the centre P of the circle C and intersects the line L, : 3x - 4y
- 11 =0 at Q. The line L, touches C at the point Q. Then the distance of P from

theline5x-12y +51=0is (Rasncev)
Yx+3y+2 =0
Yx+3y+L =0 x \ /5%
3X=YY—11=Q %2
dIX—aS =9Q

K=\
= -




N2 ((Y-9<)=as
0+ (1512)==

G0 (£-1)=5

(e<-)*>(! TE)=as.

(¢-1)Z g
X—\=-3 3

:-4 \‘

PQ 2 on o P(Y -9

3\&*%& 0% Y’(\\ ) %M SR-\UY+3\=Q

{3 201 1a+5) = Y3 -\
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x/E x2cosx 1+sin®x
lff ( + )dx——(1t+a) 2, find a.
-1/2

141X 1+e5in2023x

K/:_
1= j X*WwsSX 4 XX
)=+ RX |14+ A%
O 4+ 1+Sm®X 4+ T4 S X A x
H_eSmlO‘z?.x \ - e-—smzczgx

X AR —_—
\ LS 2 QQ\Y\lbl‘sx Qmﬁbg \
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@ None of these
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If a, B are the roots of x? - x + 2 = 0, such that Im(a) > (Im B), (B owncey)
find a® + a* + B* - 502 —
s _ 7

% = | <= (t-2) (339)
K=ot +2=0 = 20¢-3xXY 6L

16 K= “”*)mm-ma : Fol — 3> Y

g . P = §t—3(HX-2)—\
D AT= LYYt = (-2 )+ Y=Y oL = 9-3e - Sol 4 .

© 18 By p =2-3p.

@ None of these °<Cf‘“ “\‘*\3\\—3&" |

e A S
3(0(-“5) =\§-3. \:\3
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SinZx 1% _ and y(0) = 0, then y (n) is equal to G
— dan = VU, = -
lf (1+COSZX) d 1+c0s°x g _ [2rrm2Xx dxz |+ et x = & )".ZIYMXc(lmXJX
1 F= [ Cnt Cn( 1+ 32 X%)
=€t = e -e = (1+ et*x)

Sefn: Y. (14 %)= JS"'W‘ (-~ cn-gzx)dlx—fC.
\+ wex

I (Oremexy = SSmxdx—tQ

y‘\"\'(ﬁ&l?ﬁ) s - Q‘B\Y\'\‘(‘
R=0,9%=0 0= -\1Ca) ¢=)

YO town)= -t gy *=Ny
ARSI



S N\
JEE MAIN 2024 =+ PAPER DISCUSSION
pe;Z(LB)

|
If:|z+1|=0z+B(i+1)and z = E-Zl,ﬁndouﬁ whewe <,

% 3 ,.1’--»1('-}—": °‘(—2L"'21)+,3((+’)
@) 6 \%’J"':%-kﬁ-ﬂ(f&*l*)
() J@*Iz)’#.z‘-z oL |+ R+ ((R-2)
C 9

3= Xht R+ ()

@) None of these o(\1+ g,:s‘,_ ’ 2:-*—1«
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Given data 60, 60, 44, 58, 68, o, B, 56 has mean 58, variance = 66.2, then find
a? + B2 (L2)

= S (%)% ez
% 7181.6 N

| 4424 8O+ 60+ S CS ™+ LR+ 5¢2 _ S92 €6 2.
7152.8 %

1936+ 3Qeu+ 36c0 -+ 3¢+ Y620+ LR+ 3126 —33QY =66
© 70816 - -
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lff(x) - f cosecx+sinx dx & lim f(X) =1, then value Off( ) —? (L B)

cosecxsecx+tanxsinZx x-1/2
|+ Shn? X
5 B x I & St X D, - S
i tSmix ) Sex |+ 2T x
| A Frex-apx T ogsx
L
\Y(\—wh&x Utx dx  Smx="t
1 ol 1 \—\-g‘“‘ﬂx
@ 1 ——tan
R = 12
@ 1tan‘1 ! A 2t
> \/E -\-\,9_
‘b_\"k‘:\l



T=- (v =—yter’vrC
At+Vv: J=
- L gan'(t—1)+C.
T T2 \ +)
J=
-f(X):I -_L'tcrn" thx_l_))-f—c

S e

Qxi_'f’,mgtx)--l = L ter(F o)+ =
B
=\

'gh(\: = 3
| + .L-kc:m (_\_ (Svex é\_“3>

HM = 14 L LIS
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d b, ¢ are three non collinear vectors. @ + 6b is collinear with ¢ b + 5¢ is
collinear with @. Thend + ab + B¢ = 0, then finda+p. (L 3)

%36 a16c= e — O

L+ St= @ xS

98 c’i—ao?:AE—crm.
(FeW @ =@otr)T

@ 37 ~
Non QW ineary .
@ None of these A=~ 3Q \:k,--\’g CENN R
=49 ¢
M Q) e N
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f (sinx—cosx)sin’x (l. B)

. > ——dXx isequal to
sinxcos“x+tanxsin”x

. 3 3 o
n(sin’x + cos>x| " Se= + <9
3 J
- 2
In|sin3x — cos3x]| (5-9) s
0 3 +C —33 4 Y
@ In|sin®x — cos>x| (3;() ST ax = Xglq"’gc" dx = (oa
]y 3=t :-%Qﬂ\k\-\-g ‘
@ None of these (3)51(_383)&\,\:0\*



o
JEE MAIN 2024 = .« PAPER DISCUSSION (i)

ZXZ — 27XZ | (M B)
If relation R : (a, b)R(c, d) is onpf__ad\- bc is divisible by 5, (a,b,c,d € Z),
then R is ) €R & od-tc=5m. mmeT
(@9 S)

Reflexive Pef lexive

((@mez HaeeZ

% Symmetric, Reflexive but not transitive |/ wz ol btos0=S-0

SYvovnt-
Reflexive, Transitive but not Symmetric — |
@ y w (L) ,(c,d)) e R

0 Qd-Lc=Swm , M¢2

D-Qak=N )= Sn ez
QB d0=31

RS

@ Equivalence Relation
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Tyansr+'ve - -

((',3) ) (g,s)) €k S
>diw'sfble
((S,S) ’(2,3)) R cC.3—-52=5 &<

pur((12) (2/2)) ¢ R_

1.2-3.2=-3 s a0t @
nuddipte

od's.
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. Le)
If AAT =1, then find ZA [(4+A7)" + (4—AT)"]
%A?. + AT AAT=T = A ’”‘""‘"5""“9
= ATA=I = AA=T=AA
B) A2+ LA( A (A1) 24 +A+(AT)—:AAT)
@ (A7) + A “LA L (A (A) l)
= A3+ A(A_‘)
A5 < AS+ ARTAT



Area under the curve x%Z + yZ = 169 and below thé'line 5x — y = 13 is
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%1691: 65+169 -
2 2 2 " 713

1697 65 169 __ 12
1 y/ y/ 13
s 4 -lig-sin‘1 i
4 2 2 14
0 169m + 65 + gsin‘1 B
1 v. 2 14

A’th\OgiQCHn AQR,
~ Ao D AR
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vnceY
fl)=2%-x2=0 (Bovmce?)
m = number of solution such that f(x) with x-axis
n = number of solutions such that f’(x) with x-axis
Thenm+n-= —_
—?(x) 2% x> Y= £ex)= 2% 0n2-2x= P2 (L5 ’:Ql- =0
A Y=2* n<
o’\x = 2X
WY —
Pk 20a. .
p]:n. y’\/\ .
’ =2X —
A (R 12 ) J ;l K~ St Q\h'Q
S N\ b:)‘_‘_{\
10 .= d}) &\QPQ: PN
Op~ N 2y
A T \ POsg t,0)
220 _ X0y 2V SR
K\ 0 \ =X, Wl



-f (X): D_X—- *x*

0d X— o0 Qim i(x): Q‘\m i‘(\——x’-)

= o0 Q
Q R
\vn\ l**:)"&_ —R) =
. Rz — o
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Considering: f(x) = 4V2x3 - 3V2x -1
_/S-l % i E 1] - R, f(x) intersects x-axis at 1 point.wT
[ #—’—7“_9_ _

S-2: f(x) intersects x-axis at x = cos o ——
/
#(X) = X2 x23J=2= /W= (Ux~)) = QJE(JX"')(”("”)
N—
(',7) — _‘(D : )

BYy\VT <

1) -
theve ig o :‘_() Jl ‘>0
YOOY LW Vo R |

|

\ ERFR S 3 %=\ Xg(\h‘\)
\ 2 ¥=cond
Y QQ@Q-‘SQQXQ_\ Isr
NOSY S oty

My
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)

(2X427%) (tanx)\/tam‘1 (2x2-3x+1)

If f(x) = , then f'(0) is equal to

(7x2-3x+1)°

. —3
ﬁ ‘/E ‘F(X) -_— (ZX-'-J‘X) f'(‘on"(gx‘l_gx-y—l) ‘(73(2.’_35(.’_') . taormX .
s
[ ’ /
B \/; T 0= 1(27(" 77) ( )-konx
@ - + SL (e tazawn ) ( ) o

+ C
— R
@ 273/ 2 dx& 1A 'Y\) Q )‘HT(\X-\- Q) &omw\\ Jron! (s 1\!\#\\ h\ 3“:‘3

1 (0)= 04 045 4 e, [Tow - R (2) L%y
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If (A)d = 2i+ 2j+k&B(b) = 2i+ 4j + 4Kk, find the length of angle bisector
of ZAOB in triangle AOB. O (LB)







